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C1 C2 C3 C4 E1 E2
0 x <0
1/6 23 0<x<1
] F() =Y :
7, — 9%, 5/62—2/3 1<z<2
36 1 x> 2
019766 | 5= | 07880 | 0.86071 | = corretto var[X] = 443 /2880
T, preferibile PF < x < 4} — 47/48
5 SAS
E[(X +Y)?] = 107/45
0 z <0
1/6 3 0<z<l1
1. Fx(e) = 5?12 14 1<z<3
Ty =-X, * =7
12 6 1 z>3
0.44038 2 0.60653 | 0.70469 corretto var[X] = 481/960
T, preferibile P B <X< 6] =47/48
E[(X +Y)?] = 182/45
0 z <0
1/623 0<z<1
1 Fx() = 5;24~ 124 1<z<5
T = -X, T—= / =T
%0 4 1 x>5
0.25785 | oo | 0.77880 | 063763 | (oppego var[X] = 5243/2880
T preferibile P [; <X < 8} =47/48
E[(X +Y)?] = 407/45
0 z <0
1/623 0<z<1
3 Fx(@) = 1§6 l<z<6
Ty ==X, rorse
26 2 1 r>6
0.36317 | oo | 060653 | 0.95123 | onerio var[X] = 2681/960
T, preferibile P [; <X < 10] = 47/48
E[(X + Y)?] = 557/45




